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Define maximum and minimum values of a function at x = a. 4
OR

Explain demand elasticity.

Obtain maximum and minimum values of function f(x) = 4x> + 3x2 + 12. 6
OR

Demand function of a commodity is x = 40 — P and its cost function is C(x) = 6x>

+ 5x + 10. Then find

(1)  Maximum profit and

(1))  Price for maximum profit

The demand function of a commodity is x = 10 — 2P, find elasticity of demand at

P=3. 4
OR

The supply function of a commodity is x = 5 + 7P, find elasticity of supply at
P=5.

Define integration and write any 2 results of it. 4
OR
Define definite integration and state any 2 results of it.
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(b) Find integration of following functions :
() 3x+4xt 50

(i) e*+5*

(i) 3,75

OR
Find integration of following functions :
(i) 43 +5x2-7x

(i) (2x+3)’
(iil) x +% +ev.

(c) Find the values of
7

3
5

(ii) fx(s ~0)10dx
0
OR
For any commodity, MR = 10 — 2x?, then find
(i)  Total Revenue Function
(1))  Average Revenue Function and

(ii1) Demand Function.

3. (a) Explain slope of a straight line and state condition for zero slope.
OR

State different equations of straight line.
2
(b) (1) Find equation of straight line with slope 3 and -5 intercept on y-axis.

(i) Find equation of straight line passes through (2, 3) and parallel to
3x+4y+5=0.

OR
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(1) Find equation of straight line joining through point of intersection of

3x -4y + 14 =0 and 4x + 5y — 33 = 0 and point (-2, -3).

(1)) Find equation of straight line passes through (4, —5) and perpendicular to
2x+5y+9=0.

(c) Find the value of K, if line joining (3K — 10, 2K — 3) and (3, 6) is parallel to the
line 4x -2y + 9 =0. 4
OR

Prove the line joining points (1, 7) and (4, 10) is perpendicular to the line joining

points (2, 5) and (4, 3).

4. (a) Explain arithmetic progression and geometric progression by giving example. 4
OR

Explain arithmetic mean and geometric mean of given two numbers by giving

example.

(b) (1) Find sum of numbers between 200 and 300 which are exactly divisible by 7. 6

(i1) 10" term of an A.P. is 29 and its sixteenth term exceeded its seventh term

by 27. Find sum of its first 20 terms.
OR
(i)  Third term of a G.P. is 8 and 8" term is 256. Find sum of its first 10 terms.
(i1)  Find sum of first n terms of following series :

T+77+777+7777 + ....nterms.

(c) For which value of K, 3K + 5, 7K — 5 and 10K — 10 will form an A.P. ? 4
OR

Find two positive numbers whose arithmetic mean and geometric mean are 20

and 12 respectively.
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5. Answer the following : (any seven) 14

d2
(1) Ify=(x-3)2 find d—xg.

(2) Iff(x) = 4x3 + 7x2 — 3x + 4, then find the value of £"(2).
(3) State relation between AR, MR and elasticity of demand.

2

) X
(4) Find the value of f—x ) dx.

5

(5) Find the value of f Sx dx.
2

(6) Find the equation of straight line passes through origin with slope 4.
(7) Without drawing graph prove that point (2, 3) is lie on the line 4x — Sy + 7 = 0.
(8) Find arithmetic and geometric mean of numbers 2 and 8.

(9) Find three numbers in geometric progression whose sum is 35 and product is

1000.

(10) For any series S_ = n(n + 4) find its n® term.
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